|      | Misc. Water Mains - Scenic Hill<br>ening: August 11, 2009 | BIDDER'<br>NAME AN<br>ADDRES | ND   | Kar-Vel Constru<br>P.O. BOX 5827<br>Renton, WA 98 | 5            | Lloyd Enterprise<br>P.O. BOX 3889<br>Federal Way, W |              | Donovan Excav<br>4610 Tacoma A<br>Sumner, WA 9 | Avenue       | RJC Construction<br>P.O. BOX 823<br>Enumclaw, WA | ·            |
|------|---|------------------------------|------|---|--------------|---|--------------|--|--------------|--|--------------|
|      |   | TOTAL                        |      |   | \$285,150.92 |   | \$342,717.53 |  | \$365,297.71 |  | \$394,895.92 |
| TEM  |   |                              |      |   | TOTAL        |   | TOTAL        |  | TOTAL        |  | TOTA         |
| IO.  | DESCRIPTION   | QTY                          | UNIT | UNIT PRICE  | AMOUNT       | UNIT PRICE  | AMOUNT       | UNIT PRICE                                     | AMOUNT       | UNIT PRICE                                       | AMOUN        |
| CHED | ULE I: STREETS  |                              |      |   |              |   |              |  |              |  |              |
| 1000 | Mobilization  | 1                            | LS   | \$40,000.00                                       | \$40,000.00  | \$12,368.75   | \$12,368.75  | \$24,300.00                                    | \$24,300.00  | \$29,774.00                                      | \$29,774.00  |
| 1005 | Clearing and Grubbing                                     | 1                            | LS   | \$300.00  | \$300.00     | \$1,092.85  | \$1,092.85   | \$4,000.00                                     | \$4,000.00   | \$3,600.00                                       | \$3,600.00   |
| 1010 | Remove Existing Asphalt Concrete Pavement                 | 785                          | SY   | \$2.80  | \$2,198.00   | \$4.67  | \$3,665.95   | \$2.00   | \$1,570.00   | \$4.65   | \$3,650.25   |
| 1025 | Remove Cement Concrete Curb and Gutter                    | 75                           | LF   | \$5.00  | \$375.00     | \$6.35  | \$476.25     | \$2.00   | \$150.00     | \$3.85   | \$288.75     |
| 1050 | Saw Cut Existing Asphalt Concrete Pavement                | 2,800                        | LF   | \$1.25  | \$3,500.00   | \$1.31  | \$3,668.00   | \$2.50   | \$7,000.00   | \$2.00   | \$5,600.00   |
| 1075 | Gravel Borrow, Including Haul and Compaction              | 1,815                        | TON  | \$2.50  | \$4,537.50   | \$11.84   | \$21,489.60  | \$18.00  | \$32,670.00  | \$18.90  | \$34,303.50  |
| 1080 | Crushed Surfacing Top Course, 5/8 Inch Minus              | 185                          | TON  | \$16.00   | \$2,960.00   | \$12.03   | \$2,225.55   | \$20.00  | \$3,700.00   | \$17.45  | \$3,228.25   |
| 1095 | HMA Class 1/2", PG 64-22                                  | 160                          | TON  | \$180.00  | \$28,800.00  | \$178.38  | \$28,540.80  | \$147.00                                       | \$23,520.00  | \$142.35   | \$22,776.00  |
| 1110 | Planing Bituminous Pavement                               | 520                          | SY   | \$10.00   | \$5,200.00   | \$8.66  | \$4,503.20   | \$1.00   | \$520.00     | \$7.00   | \$3,640.00   |
| 1125 | Cold Plant Mix for Temporary Pavement Patch               | 35                           | TON  | \$75.00   | \$2,625.00   | \$80.77   | \$2,826.95   | \$107.00                                       | \$3,745.00   | \$90.00  | \$3,150.00   |
| 1205 | Cement Concrete Curb and Gutter                           | 45                           | LF   | \$50.00   | \$2,250.00   | \$101.85  | \$4,583.25   | \$60.00  | \$2,700.00   | \$43.00  | \$1,935.00   |
| 1220 | Adjust Existing Catch Basin Grate to Finished Grade       | 2                            | EA   | \$200.00  | \$400.00     | \$676.63  | \$1,353.26   | \$400.00                                       | \$800.00     | \$180.00   | \$360.00     |
| 1250 | Install New Monument, Case & Cover to Grade               | 1                            | EA   | \$800.00  | \$800.00     | \$758.04  | \$758.04     | \$850.00                                       | \$850.00     | \$500.00   | \$500.00     |
| 1315 | Pothole Utilities   | 5                            | EA   | \$50.00   | \$250.00     | \$289.07  | \$1,445.35   | \$670.00                                       | \$3,350.00   | \$200.00   | \$1,000.00   |
| 1500 | Landscape Restoration                                     | 1                            | LS   | \$11,000.00                                       | \$11,000.00  | \$500.00  | \$500.00     | \$23,100.00                                    | \$23,100.00  | \$3,160.00                                       | \$3,160.00   |
|      | SCHEDULE 1: STREETS TOT                                   | AL                           |      |   | \$105,195.50 |   | \$89,497.80  |  | \$131,975.00 |  | \$116,965.75 |
| CHEC | ULE II: WATER   |                              |      |   |              |   |              |  |              |  |              |
|      | 8 Inch Connection to Existing Water Main                  | 3                            | EA   | \$3,000.00  | \$9,000.00   | \$931.69  | \$2,795.07   | \$1,850.00                                     | \$5,550.00   | \$2,316.00                                       | \$6,948.00   |
| 2025 | 8 Inch Diameter Ductile Iron CI 52 Water Main Pipe        | 1,386                        | LF   | \$41.20   | \$57,103.20  | \$40.65   | \$56,340.90  | \$52.00  | \$72,072.00  | \$44.00  | \$60,984.00  |
| 2030 | 4 Inch Diameter Ductile Iron CI 52 Water Main Pipe        | 10                           | LF   | \$50.00   | \$500.00     | \$67.93   | \$679.30     | \$110.00                                       | \$1,100.00   | \$110.00   | \$1,100.00   |
| 2035 | 4 Inch Gate Valve   | 1                            | EA   | \$700.00  | \$700.00     | \$814.33  | \$814.33     | \$500.00                                       | \$500.00     | \$881.00   | \$881.00     |
| 2040 | Replace Existing 6" Gate Valve                            | 1                            | EA   | \$900.00  | \$900.00     | \$1,357.36  | \$1,357.36   | \$1,900.00                                     | \$1,900.00   | \$1,132.05                                       | \$1,132.05   |
| 2045 | 8 Inch Gate Valve   | 6                            | EA   | \$1,000.00  | \$6,000.00   | \$1,427.05  | \$8,562.30   | \$1,200.00                                     | \$7,200.00   | \$1,485.76                                       | \$8,914.56   |
|      | Hydrant Assembly  | 2                            | EA   | \$4,100.00  | \$8,200.00   | \$4,825.17  | \$9,650.34   | \$4,000.00                                     | \$8,000.00   | \$3,476.00                                       | \$6,952.00   |
|      | Removal of Existing Fire Hydrant                          | 1                            | EA   | \$900.00  | \$900.00     | \$965.78  | \$965.78     | \$2,900.00                                     | \$2,900.00   | \$646.00   | \$646.00     |
| 2085 | •   | 1                            | EA   | \$5,000.00  | \$5,000.00   | \$5,982.68  | \$5,982.68   | \$2,900.00                                     | \$2,900.00   | \$4,219.00                                       | \$4,219.00   |
| 2090 | Combination Air Vacuum Valve and Vault                    | 1                            | EA   | \$6,000.00  | \$6,000.00   | \$5,812.79  | \$5,812.79   | \$2,900.00                                     | \$2,900.00   | \$8,000.00                                       | \$8,000.00   |
| 2105 | Abandon Existing Water Service                            | 19                           | EA   | \$350.00  | \$6,650.00   | \$263.92  | \$5,014.48   | \$210.00                                       | \$3,990.00   | \$156.00   | \$2,964.00   |
| 2110 | Abandon Insitu Existing 6 Inch Water Main                 | 1                            | LS   | \$800.00  | \$800.00     | \$959.64  | \$959.64     | \$1,000.00                                     | \$1,000.00   | \$1,740.00                                       | \$1,740.00   |
| 2110 | <del>-</del>  |                              |      | \$700.00  | \$13,300.00  | \$584.54  | \$11,106.26  | \$1,700.00                                     | \$32,300.00  |  | \$6,650.00   |

|        | Alexa Markey Markey County Hill                     | DIDDED   | 10   |                 | 1            | Library Easternants | 2               |               | 3            | DIO O to ti            | 4            |  |
|--------|---|----------|------|-----------------|--------------|---------------------|-----------------|---------------|--------------|------------------------|--------------|--|
|        | Aisc. Water Mains - Scenic Hill                     | BIDDER'S |      | Kar-Vel Constru |              | Lloyd Enterprise    |                 | Donovan Excav |              | RJC Construction Group |              |  |
| 31a Op | ening: August 11, 2009                              | NAME AN  |      | P.O. BOX 58275  |              | P.O. BOX 3889       |                 | 4610 Tacoma A |              | P.O. BOX 823           | 22222        |  |
|        |   | ADDRES:  | 5    | Renton, WA 98   | ا 3058       | Federal Way, W      | 7A 98063        | Sumner, WA 9  | 18390        | Enumclaw, WA           | 98022        |  |
|        |   | TOTAL    |      |                 | \$285,150.92 |                     | \$342,717.53    |               | \$365,297.71 |                        | \$394,895.92 |  |
| TEM    |   |          |      |                 | TOTAL        |                     | TOTAL           |               | TOTAL        | -                      | TOTA         |  |
| NO.    | DESCRIPTION   | QTY      | UNIT | UNIT PRICE      | AMOUNT       | UNIT PRICE          | AMOUNT          | UNIT PRICE    | AMOUNT       | UNIT PRICE             | AMOUN        |  |
| 2125   | Service Connection 2 Inch Diameter                  | 1        | EA   | \$1,500.00      | \$1,500.00   | \$754.94            | \$754.94        | \$2,500.00    | \$2,500.00   | \$480.00               | \$480.00     |  |
| 2145   | Water Service Line 1 Inch Diameter                  | 440      | LF   | \$5.00          | \$2,200.00   | \$13.17             | \$5,794.80      | \$2.00        | \$880.00     | \$10.00                | \$4,400.00   |  |
| 2155   | Water Service Line 2 Inch Diameter                  | 8        | LF   | \$31.00         | \$248.00     | \$42.88             | \$343.04        | \$3.00        | \$24.00      | \$40.00                | \$320.00     |  |
| 2175   | 5/8 x 3/4 Inch Water Meter                          | 19       | EA   | \$10.00         | \$190.00     | \$257.83            | \$4,898.77      | \$200.00      | \$3,800.00   | \$110.00               | \$2,090.00   |  |
| 2205   | 3/4 Inch Meter Setter                               | 19       | EA   | \$350.00        | \$6,650.00   | \$319.20            | \$6,064.80      | \$80.00       | \$1,520.00   | \$683.00               | \$12,977.00  |  |
| 2215   | 2 Inch Meter Setter                                 | 1        | EA   | \$1,200.00      | \$1,200.00   | \$1,431.50          | \$1,431.50      | \$300.00      | \$300.00     | \$1,416.05             | \$1,416.05   |  |
| 2220   | Meter Box for Up to 1 Inch Diameter Service         | 19       | EA   | \$220.00        | \$4,180.00   | \$228.91            | \$4,349.29      | \$120.00      | \$2,280.00   | \$93.50                | \$1,776.50   |  |
| 2225   | Meter Box for 1 1/2 Inch to 2 Inch Diameter Service | 1        | EA   | \$600.00        | \$600.00     | \$476.90            | \$476.90        | \$400.00      | \$400.00     | \$181.00               | \$181.00     |  |
| 2255   | Shoring or Extra Excavation Class B                 | 1,900    | SF   | \$0.01          | \$19.00      | \$0.14              | \$266.00        | \$1.00        | \$1,900.00   | \$2.86                 | \$5,434.00   |  |
| 2260   | Foundation Material, Class I and II for Water Main  | 150      | TON  | \$0.50          | \$75.00      | \$17.46             | \$2,619.00      | \$1.00        | \$150.00     | \$15.00                | \$2,250.00   |  |
| 2275   | Pipe Zone Bedding for Water Main                    | 500      | TON  | \$0.50          | \$250.00     | \$19.69             | \$9,845.00      | \$22.00       | \$11,000.00  | \$13.00                | \$6,500.00   |  |
| 2285   | Bank Run Gravel for Trench Backfill for Water Main  | 324      | TON  | \$2.50          | \$810.00     | \$9.45              | \$3,061.80      | \$20.00       | \$6,480.00   | \$11.50                | \$3,726.00   |  |
|        | SCHEDULE II: WATER SUB TOTAL                        |          |      |                 | \$132,975.20 |                     | \$149,947.07    |               | \$173,546.00 |                        | \$152,681.16 |  |
|        | 9.5% WA State Sales Tax                             |          |      |                 | \$12,632.64  |                     | \$14,244.97     |               | \$16,486.87  |                        | \$14,504.7   |  |
|        | TOTAL   |          |      |                 | \$145,607.84 |                     | \$164,192.04    |               | \$190,032.87 |                        | \$167,185.87 |  |
| CHED   | ULE III: SEWER                                      |          |      |                 | l            |                     | '               |               |              |                        |              |  |
| 3000   | Ductile Iron Side Sewer Pipe, 6 Inch Diameter       | 18       | LF   | \$125.00        | \$2,250.00   | \$123.03            | \$2,214.54      | \$75.00       | \$1,350.00   | \$193.23               | \$3,478.14   |  |
| 3005   | PVC Sewer Pipe, 8 Inch Diameter                     | 216      | LF   | \$49.00         | \$10,584.00  | \$30.39             | \$6,564.24      | \$32.00       | \$6,912.00   | \$80.43                | \$17,372.88  |  |
| 3035   | PVC Side Sewer Pipe, 6 Inch Diameter                | 30       | LF   | \$135.00        | \$4,050.00   | \$44.92             | \$1,347.60      | \$136.00      | \$4,080.00   | \$171.76               | \$5,152.80   |  |
| 3050   | Manhole Under 12 Feet, Type 1 48 Inch Diameter      | 1        | EA   | \$5,000.00      | \$5,000.00   | \$2,408.83          | \$2,408.83      | \$2,400.00    | \$2,400.00   | \$3,933.00             | \$3,933.00   |  |
| 3090   | Standard Manhole Frame and Locking Cover            | 3        | EA   | \$380.00        | \$1,140.00   | \$296.43            | \$889.29        | \$360.00      | \$1,080.00   | \$400.00               | \$1,200.00   |  |
| 3115   | Shoring or Extra Excavation, Class B                | 1,300    | SF   | \$0.01          | \$13.00      | \$0.14              | \$182.00        | \$2.00        | \$2,600.00   | \$2.86                 | \$3,718.00   |  |
| 3120   | Foundation Material, Class I and II                 | 20       | TON  | \$0.50          | \$10.00      | \$17.45             | \$349.00        | \$22.00       | \$440.00     | \$15.00                | \$300.00     |  |
| 3135   | Pipe Zone Bedding                                   | 155      | TON  | \$0.50          | \$77.50      | \$19.68             | \$3,050.40      | \$22.00       | \$3,410.00   | \$13.00                | \$2,015.00   |  |
| 3145   | Bank Run Gravel for Trench Backfill                 | 140      | TON  | \$2.50          | \$350.00     | \$9.45              | \$1,323.00      | \$20.00       | \$2,800.00   | \$11.50                | \$1,610.00   |  |
|        | SCHEDULE III: SEWER SUB TOTAL                       |          |      |                 | \$23,474.50  |                     | \$18,328.90     |               | \$25,072.00  |                        | \$38,779.8   |  |
|        | 9.5% WA State Sales Tax                             |          |      |                 | \$2,230.08   |                     | \$1,741.25      |               | \$2,381.84   |                        | \$3,684.0    |  |
|        | TOTAL   |          |      |                 | \$25,704.58  |                     | \$20,070.15     |               | \$27,453.84  |                        | \$42,463.90  |  |
| SCHED  | ULE IV: TRAFFIC CONTROL                             |          |      |                 | ,            |                     | 1               |               |              |                        |              |  |
| CHILL  | Traffic Control Labor                               | 900      | HR   | \$1.00          | \$900.00     | \$47.25             | \$42,525.00     | \$1.00        | \$900.00     | \$45.70                | \$41,130.0   |  |
|        | Traine Control Eabor                                |          |      |                 |              | 1                   | <b>\$500.44</b> | ¢1.00         | ¢01 00       | \$5.50                 | \$445.5      |  |
| 4005   |   | 81       | SF   | \$3.00          | \$243.00     | \$7.31              | \$592.11        | \$1.00        | \$81.00      | \$3.50                 | \$440.0°     |  |

|        |  |              |      | 1                     |                      | ı              |               |                    | •                         |  |                     |
|--------|--|--------------|------|-----------------------|----------------------|----------------|---------------|--------------------|---------------------------|--|---------------------|
| 2008 5 | lisc. Water Mains - Scenic Hill              | BIDDER       | 10   | 1<br>Kor Vol Construi | ution                |                | 2             | Donovon Every      | 3                         | DIC Construction                       | 4 Croup             |
|        |  |              |      |                       |                      |                |               | Donovan Excavating |                           | RJC Construction Group<br>P.O. BOX 823 |                     |
| Bia Ob | ening: August 11, 2009                       | NAME A       |      |                       |                      |                | P.O. BOX 3889 |                    | 4610 Tacoma Avenue        |  |                     |
|        |  | ADDRES       | SS   | Renton, WA 980        | )58                  | Federal Way, W | A 98063       | Sumner, WA 9       | 8390                      | Enumclaw, WA                           | 98022               |
|        |  | TOTAL        |      |                       | \$285,150.92         |                | \$342,717.53  |                    | \$365,297.71              |  | \$394,895.92        |
| ITEM   |  |              |      |                       | TOTAL                |                | TOTAL         |                    | TOTAL                     |  | TOTAL               |
| NO.    | DESCRIPTION                                  | QTY          | UNIT | UNIT PRICE            |                      | UNIT PRICE     |               | UNIT PRICE         |                           | UNIT PRICE                             | AMOUNT              |
| 4020   | Temporary Traffic Control Devices            | 1            | LS   | \$500.00              | \$500.00             | \$1,201.78     | \$1,201.78    | \$3,300.00         | \$3,300.00                | \$1,148.40                             | \$1,148.40          |
| 4040   | Traffic Safety Drum                          | 5            | EA   | \$70.00               | \$350.00             | \$44.51        | \$222.55      | \$1.00             | \$5.00                    | \$132.00                               | \$660.00            |
| 4      | SCHEDULE IV: TRAFFIC CONTROL                 | TOTAL        |      |                       | \$2,293.00           |                | \$59,346.44   |                    | \$4,586.00                |  | \$59,004.90         |
|        |  |              |      |                       |                      |                |               |                    |                           |  |                     |
| SCHED  | ULE V: TEMPORARY EROSION AND SEDIMENTATI     | ON CONTROL   |      |                       |                      |                |               |                    |                           |  |                     |
| 5000   | Seeding, Fertilizing and Mulching            | 0.10         | AC   | \$1,000.00            | \$100.00             | \$3,500.00     | \$350.00      | \$10,000.00        | \$1,000.00                | \$9,855.00                             | \$985.50            |
| 5010   | Straw Wattles for Drainage Way Barrier       | 25           | EA   | \$30.00               | \$750.00             | \$24.80        | \$620.00      | \$50.00            | \$1,250.00                | \$40.00                                | \$1,000.00          |
| 5015   | Inlet Protection                             | 5            | EA   | \$50.00               | \$250.00             | \$64.86        | \$324.30      | \$100.00           | \$500.00                  | \$48.00                                | \$240.00            |
| 5020   | Straw Mulch                                  | 250          | SY   | \$0.20                | \$50.00              | \$1.00         | \$250.00      | \$10.00            | \$2,500.00                | \$5.00                                 | \$1,250.00          |
| 5030   | ESC Lead                                     | 20           | DAY  | \$10.00               | \$200.00             | \$153.34       | \$3,066.80    | \$50.00            | \$1,000.00                | \$40.00                                | \$800.00            |
| 5055   | Temporary Erosion/Water Pollution Control    | 1            | FA   | \$5,000.00            | \$5,000.00           | \$5,000.00     | \$5,000.00    | \$5,000.00         | \$5,000.00                | \$5,000.00                             | \$5,000.00          |
|        | SCHEDULE V: TESC T                           | OTAL         |      |                       | \$6,350.00           |                | \$9,611.10    |                    | \$11,250.00               |  | \$9,275.50          |
|        |  |              |      |                       |                      |                |               |                    |                           |  |                     |
|        | SUMMARY                                      |              |      |                       |                      |                |               |                    |                           |  |                     |
|        | Schedule I - Streets                         |              |      |                       | \$105,195.50         |                | \$89,497.80   |                    | \$131,975.00              |  | \$116,965.75        |
|        | Sechedule II - Water                         |              |      |                       | \$145,607.84         |                | \$164,192.04  |                    | \$190,032.87              |  | \$167,185.87        |
|        | Schedule III - Sewer                         |              |      |                       | \$25,704.58          |                | \$20,070.15   |                    | \$27,453.84               |  | \$42,463.90         |
|        | Schedule IV - Traffic Control                |              |      |                       | \$2,293.00           |                | \$59,346.44   |                    | \$4,586.00                |  | \$59,004.90         |
|        | Schedule V - Temporary Erosion and Sedimenta | tion Control |      |                       | \$6,350.00           |                | \$9,611.10    |                    | \$11,250.00               |  | \$9,275.50          |
| 1      | Construction Cost Totals                     |              |      |                       | \$285,150.92         |                | \$342,717.53  |                    | \$365,297.71              |  | \$394,895.92        |
|        | Construction cost rotals                     |              |      |                       | φ <b>∠</b> 00,100.92 | 1              | φ34Z,/1/.33   |                    | φ303 <sub>1</sub> 271./ I |  | <b>₽</b> ∂74,070.7∠ |

|        | /lisc. Water Mains - Scenic Hill<br>ening: August 11, 2009 | BIDDER'<br>NAME AN |      | Archer Constru<br>7855 S. 206th |              | Road Construct | 6<br>tion NW | A & A Excavati<br>7912 W Tapps |              | Laser Undergr       |                    |  |
|--------|--|--------------------|------|---------------------------------|--------------|----------------|--------------|--------------------------------|--------------|---------------------|--------------------|--|
| sia Op | ening. August 11, 2007                                     | ADDRES             |      | Kent, WA 980                    |              | Renton, WA 98  | 8057         | Bonney Lake,                   | ~            | Snohomish, WA 98296 |                    |  |
|        |  | TOTAL              |      |                                 | \$434,241.66 |                | \$440,283.32 |                                | \$462,916.82 |                     | \$463,336.68       |  |
| ITEM   |  |                    |      |                                 | TOTAL        |                | TOTAL        |                                | TOTAL        |                     | TOTA               |  |
| NO.    | DESCRIPTION  | QTY                | UNIT | UNIT PRICE                      | AMOUNT       | UNIT PRICE     | AMOUNT       | UNIT PRICE                     | AMOUNT       | UNIT PRICE          | AMOUN <sup>*</sup> |  |
| CHEE   | ULE I: STREETS   |                    |      |                                 |              |                |              |                                |              |                     |                    |  |
| 1000   | Mobilization   | 1                  | LS   | \$41,000.00                     | \$41,000.00  | \$45,000.00    | \$45,000.00  | \$50,000.00                    | \$50,000.00  | \$40,000.00         | \$40,000.00        |  |
| 1005   | Clearing and Grubbing                                      | 1                  | LS   | \$2,000.00                      | \$2,000.00   | \$10,000.00    | \$10,000.00  | \$5,000.00                     | \$5,000.00   | \$3,000.00          | \$3,000.00         |  |
| 1010   | Remove Existing Asphalt Concrete Pavement                  | 785                | SY   | \$12.00                         | \$9,420.00   | \$8.00         | \$6,280.00   | \$20.00                        | \$15,700.00  | \$4.00              | \$3,140.00         |  |
| 1025   | Remove Cement Concrete Curb and Gutter                     | 75                 | LF   | \$6.00                          | \$450.00     | \$5.00         | \$375.00     | \$10.00                        | \$750.00     | \$5.00              | \$375.00           |  |
| 1050   | Saw Cut Existing Asphalt Concrete Pavement                 | 2,800              | LF   | \$3.00                          | \$8,400.00   | \$3.00         | \$8,400.00   | \$1.00                         | \$2,800.00   | \$1.00              | \$2,800.00         |  |
| 1075   | Gravel Borrow, Including Haul and Compaction               | 1,815              | TON  | \$22.00                         | \$39,930.00  | \$17.25        | \$31,308.75  | \$9.00                         | \$16,335.00  | \$10.00             | \$18,150.00        |  |
| 1080   | Crushed Surfacing Top Course, 5/8 Inch Minus               | 185                | TON  | \$24.00                         | \$4,440.00   | \$37.00        | \$6,845.00   | \$17.00                        | \$3,145.00   | \$25.00             | \$4,625.00         |  |
| 1095   | HMA Class 1/2", PG 64-22                                   | 160                | TON  | \$180.00                        | \$28,800.00  | \$145.00       | \$23,200.00  | \$180.00                       | \$28,800.00  | \$100.00            | \$16,000.00        |  |
| 1110   | Planing Bituminous Pavement                                | 520                | SY   | \$16.00                         | \$8,320.00   | \$7.50         | \$3,900.00   | \$10.00                        | \$5,200.00   | \$10.00             | \$5,200.00         |  |
| 1125   | Cold Plant Mix for Temporary Pavement Patch                | 35                 | TON  | \$170.00                        | \$5,950.00   | \$1.00         | \$35.00      | \$100.00                       | \$3,500.00   | \$100.00            | \$3,500.00         |  |
| 1205   | Cement Concrete Curb and Gutter                            | 45                 | LF   | \$120.00                        | \$5,400.00   | \$40.00        | \$1,800.00   | \$125.00                       | \$5,625.00   | \$50.00             | \$2,250.00         |  |
| 1220   | Adjust Existing Catch Basin Grate to Finished Grade        | 2                  | EA   | \$360.00                        | \$720.00     | \$550.00       | \$1,100.00   | \$250.00                       | \$500.00     | \$400.00            | \$800.00           |  |
| 1250   | Install New Monument, Case & Cover to Grade                | 1                  | EA   | \$300.00                        | \$300.00     | \$500.00       | \$500.00     | \$500.00                       | \$500.00     | \$2,000.00          | \$2,000.00         |  |
| 1315   | Pothole Utilities  | 5                  | EA   | \$450.00                        | \$2,250.00   | \$450.00       | \$2,250.00   | \$300.00                       | \$1,500.00   | \$500.00            | \$2,500.00         |  |
| 1500   | Landscape Restoration                                      | 1                  | LS   | \$2,400.00                      | \$2,400.00   | \$6,575.00     | \$6,575.00   | \$5,000.00                     | \$5,000.00   | \$5,000.00          | \$5,000.00         |  |
|        | SCHEDULE I: STREETS TOT                                    | AL                 |      |                                 | \$159,780.00 |                | \$147,568.75 |                                | \$144,355.00 |                     | \$109,340.00       |  |
| CHEC   | ULE II: WATER  |                    |      |                                 |              |                |              |                                |              |                     |                    |  |
|        | 8 Inch Connection to Existing Water Main                   | 3                  | EA   | \$1,200.00                      | \$3,600.00   | \$1,525.00     | \$4,575.00   | \$4,000.00                     | \$12,000.00  | \$5,000.00          | \$15,000.00        |  |
| 2025   | 8 Inch Diameter Ductile Iron CI 52 Water Main Pipe         | 1,386              | LF   | \$42.00                         | \$58,212.00  | \$56.50        | \$78,309.00  | \$35.00                        | \$48,510.00  | \$60.00             | \$83,160.00        |  |
| 2030   | 4 Inch Diameter Ductile Iron CI 52 Water Main Pipe         | 10                 | LF   | \$60.00                         | \$600.00     | \$64.00        | \$640.00     | \$35.00                        | \$350.00     | \$50.00             | \$500.00           |  |
| 2035   | 4 Inch Gate Valve  | 1                  | EA   | \$550.00                        | \$550.00     | \$650.00       | \$650.00     | \$500.00                       | \$500.00     | \$700.00            | \$700.00           |  |
| 2040   | Replace Existing 6" Gate Valve                             | 1                  | EA   | \$1,120.00                      | \$1,120.00   | \$900.00       | \$900.00     | \$1,200.00                     | \$1,200.00   | \$3,000.00          | \$3,000.00         |  |
| 2045   | 8 Inch Gate Valve  | 6                  | EA   | \$950.00                        | \$5,700.00   | \$1,175.00     | \$7,050.00   | \$1,000.00                     | \$6,000.00   | \$1,500.00          | \$9,000.00         |  |
| 2080   | Hydrant Assembly   | 2                  | EA   | \$4,600.00                      | \$9,200.00   | \$4,575.00     | \$9,150.00   | \$4,000.00                     | \$8,000.00   | \$4,000.00          | \$8,000.00         |  |
| 2081   | Removal of Existing Fire Hydrant                           | 1                  | EA   | \$800.00                        | \$800.00     | \$525.00       | \$525.00     | \$800.00                       | \$800.00     | \$1,000.00          | \$1,000.00         |  |
| 2085   | 3  | 1                  | EA   | \$5,200.00                      | \$5,200.00   | \$4,975.00     | \$4,975.00   | \$6,500.00                     | \$6,500.00   | \$1,500.00          | \$1,500.00         |  |
| 2090   | Combination Air Vacuum Valve and Vault                     | 1                  | EA   | \$5,600.00                      | \$5,600.00   | \$5,175.00     | \$5,175.00   | \$20,000.00                    | \$20,000.00  | \$2,500.00          | \$2,500.00         |  |
| 2105   | Abandon Existing Water Service                             | 19                 | EA   | \$420.00                        | \$7,980.00   | \$200.00       | \$3,800.00   | \$150.00                       | \$2,850.00   | \$200.00            | \$3,800.00         |  |
| 2110   | Abandon Insitu Existing 6 Inch Water Main                  | 1                  | LS   | \$4,000.00                      | \$4,000.00   | \$850.00       | \$850.00     | \$600.00                       | \$600.00     | \$10,000.00         | \$10,000.00        |  |
| 2110   |  |                    |      |                                 |              | \$380.00       | \$7,220.00   | i e                            | \$19,000.00  | i                   | \$9,500.00         |  |

|        |   |           |          |                    |                           |                    |              | T              | 7                       |  |                           |  |
|--------|---|-----------|----------|--------------------|---------------------------|--------------------|--------------|----------------|-------------------------|--|---------------------------|--|
| 2000 1 | Misc. Water Mains - Scenic Hill                     | BIDDER'   | איכ      | Archer Construc    | 5                         | Road Construct     | 6            | A & A Excavati | •                       |  | 8                         |  |
|        |   | NAME AN   |          | 7855 S. 206th S    |                           | P.O. BOX 188       |              | 7912 W Tapps   | -                       | Laser Underground & 20417 - 87th Avenue SE |                           |  |
| Bia Op | pening: August 11, 2009                             | ADDRES    |          | Kent, WA 9803      |                           | Renton, WA 98      |              | Bonney Lake, \ | -                       | Snohomish, WA 98296                        |                           |  |
| 1      |   | ADDKES    | 5        | Kent, WA 9003      | , <del>'</del> 2          | Remon, wa 🤫        | /805/        | Bunney Lake, v | /VA 90391               | Shonomish, we                              | A 90290                   |  |
| Ì      |   | TOTAL     |          |                    | \$434,241.66              | 1                  | \$440,283.32 |                | \$462,916.82            |  | \$463,336.68              |  |
| ITEM   |   |           |          |                    | TOTAL                     | .[                 | TOTAL        |                | TOTAL                   |  | TOTAL                     |  |
| NO.    | DESCRIPTION   | QTY       | UNIT     | UNIT PRICE         | AMOUNT                    | UNIT PRICE         | AMOUNT       | T UNIT PRICE   | AMOUN7                  | T UNIT PRICE                               | AMOUNT                    |  |
| 2125   | Service Connection 2 Inch Diameter                  | 1         | EA       | \$600.00           | \$600.00                  | \$620.00           | \$620.00     | \$3,500.00     | \$3,500.00              | \$2,000.00                                 | \$2,000.00                |  |
| 2145   | Water Service Line 1 Inch Diameter                  | 440       | LF       | \$5.00             | \$2,200.00                | \$25.00            | \$11,000.00  | \$6.00         | \$2,640.00              | \$20.00                                    | \$8,800.00                |  |
| 2155   | Water Service Line 2 Inch Diameter                  | 8         | LF       | \$40.00            | \$320.00                  | \$36.00            | \$288.00     | \$30.00        | \$240.00                | \$40.00                                    | \$320.00                  |  |
| 2175   | 5/8 x 3/4 Inch Water Meter                          | 19        | EA       | \$100.00           | \$1,900.00                | \$360.00           | \$6,840.00   | \$25.00        | \$475.00                | \$800.00                                   | \$15,200.00               |  |
| 2205   | 3/4 Inch Meter Setter                               | 19        | EA       | \$350.00           | \$6,650.00                | \$280.00           | \$5,320.00   | \$150.00       | \$2,850.00              | \$500.00                                   | \$9,500.00                |  |
| 2215   | 2 Inch Meter Setter                                 | 1         | EA       | \$1,300.00         | \$1,300.00                | \$1,200.00         | \$1,200.00   | \$1,200.00     | \$1,200.00              | \$1,000.00                                 | \$1,000.00                |  |
| 2220   | Meter Box for Up to 1 Inch Diameter Service         | 19        | EA       | \$380.00           | \$7,220.00                | \$340.00           | \$6,460.00   | \$53.00        | \$1,007.00              | \$300.00                                   | \$5,700.00                |  |
| 2225   | Meter Box for 1 1/2 Inch to 2 Inch Diameter Service | 1         | EA       | \$600.00           | \$600.00                  | \$640.00           | \$640.00     | \$190.00       | \$190.00                | \$500.00                                   | \$500.00                  |  |
| 2255   | Shoring or Extra Excavation Class B                 | 1,900     | SF       | \$0.35             | \$665.00                  | \$0.50             | \$950.00     | \$1.00         | \$1,900.00              | \$1.00                                     | \$1,900.00                |  |
| 2260   | -   | 150       | TON      | \$45.00            | \$6,750.00                | \$13.00            | \$1,950.00   | \$10.00        | \$1,500.00              | \$25.00                                    | \$3,750.00                |  |
| 2275   |   | 500       | TON      | \$24.00            | \$12,000.00               | \$11.00            | \$5,500.00   |                | \$5,000.00              |  | \$12,500.00               |  |
| 2285   |   | 324       | TON      | \$22.00            | \$7,128.00                | \$10.50            |              |                | \$3,240.00              |  | \$4,860.00                |  |
|        | SCHEDULE II: WATER SUB TOTA                         |           |          |                    | \$159,395.00              | 1                  | \$167,989.00 |                | \$150,052.00            |  | \$213,690.00              |  |
|        | 9.5% WA State Sales Ta                              |           |          |                    | \$15,142.53               | 1                  | \$15,958.96  |                | \$14,254.94             |  | \$20,300.55               |  |
|        | TOTA  |           |          |                    | \$174,537.53              | 1                  | \$183,947.96 |                | \$164,306.94            |  | \$233,990.55              |  |
|        |   |           |          |                    | I                         |                    |              |                |                         |  |                           |  |
|        | DULE III: SEWER                                     |           |          |                    |                           | 1                  |              |                |                         |  |                           |  |
| 3000   |   | 18        | LF       | \$100.00           | \$1,800.00                | \$142.00           | \$2,556.00   |                | \$3,600.00              |  | \$1,800.00                |  |
| 3005   | • •   | 216       | LF       | \$38.00            | \$8,208.00                | \$62.00            | \$13,392.00  |                | \$43,200.00             |  | \$21,600.00               |  |
| 3035   | · '   | 30        | LF       | \$40.00            | \$1,200.00                | \$112.00           | \$3,360.00   |                | \$6,000.00              |  | \$3,000.00                |  |
| 3050   | . 31  | 1         | EA       | \$4,000.00         | \$4,000.00                | \$3,800.00         |              |                | \$15,000.00             |  | \$4,000.00                |  |
| 3090   | ğ   | 3         | EA       | \$425.00           | \$1,275.00                | \$415.00           | \$1,245.00   |                | \$1,500.00              |  | \$1,200.00                |  |
| 3115   | •   | 1,300     | SF       | \$0.50             | \$650.00                  | \$0.50             |              |                | \$2,600.00              |  | \$5,200.00                |  |
| 3120   | •   | 20        | TON      | \$45.00            | \$900.00                  | \$13.00            | \$260.00     |                | \$200.00                |  | \$500.00                  |  |
|        | 1   | 155       | TON      |                    | \$3,720.00                | \$11.00            | \$1,705.00   |                | \$2,325.00              |  | \$3,875.00                |  |
| 3145   |   | 140       | TON      | \$22.00            | \$3,080.00                | \$10.50            | \$1,470.00   | \$15.00        | \$2,100.00              |  | \$2,100.00                |  |
|        | SCHEDULE III: SEWER SUB TOTA                        |           |          |                    | \$24,833.00               | 1                  | \$28,438.00  |                | \$76,525.00             |  | \$43,275.00               |  |
|        | 9.5% WA State Sales Ta                              |           |          |                    | \$2,359.14                | 1                  | \$2,701.61   |                | \$7,269.88              |  | \$4,111.13                |  |
|        | TOTA  | .L        |          |                    | \$27,192.14               | 1                  | \$31,139.61  |                | \$83,794.88             |  | \$47,386.13               |  |
|        | 1017  |           |          |                    |                           | i                  |              |                |                         |  |                           |  |
| SCHED  | DULE IV: TRAFFIC CONTROL                            |           |          |                    | 1                         |                    |              |                |                         |  |                           |  |
|        |   | 900       | HR       | \$50.00            | \$45,000.00               | \$50.00            | \$45,000.00  | \$35.00        | \$31,500.00             | \$40.00                                    | \$36,000.00               |  |
| 4005   | DULE IV: TRAFFIC CONTROL                            | 900<br>81 | HR<br>SF | \$50.00<br>\$22.00 | \$45,000.00<br>\$1,782.00 | \$50.00<br>\$22.00 |              |                | \$31,500.00<br>\$810.00 |  | \$36,000.00<br>\$1,620.00 |  |

|        |  |         |      |                 | 5            |                | 6            |                       | 7            |                        | 8            |
|--------|--|---------|------|-----------------|--------------|----------------|--------------|-----------------------|--------------|------------------------|--------------|
| 2008 N | lisc. Water Mains - Scenic Hill                  | BIDDER  | 'S   | Archer Construc | o<br>ction   | Road Construct | •            | A & A Excavati        | na Inc       | Laser Undergro         | •            |
|        | ening: August 11, 2009                           | NAME A  |      |                 |              |                |              | 7912 W Tapps Hwy      |              | 20417 - 87th Avenue SE |              |
| Віа Ор | ening. Addust 11, 2007                           |         |      | Kent, WA 9803   |              |                |              | Bonney Lake, WA 98391 |              | Snohomish, WA 98296    |              |
|        |  | ADDILL  | ,,   | Kent, WA 7003   | 2            | Kenton, WA 30  | 6037         | borniey Lake, v       | VA 70371     | SHOHOITIISH, WA        | 70270        |
|        |  | TOTAL   |      |                 | \$434,241.66 |                | \$440,283.32 |                       | \$462,916.82 |                        | \$463,336.68 |
| ITEM   |  |         |      |                 | TOTAL        |                | TOTAL        |                       | TOTAL        |                        | TOTAL        |
| NO.    | DESCRIPTION                                      | QTY     | UNIT | UNIT PRICE      | AMOUNT       | UNIT PRICE     | AMOUNT       | UNIT PRICE            | AMOUNT       | UNIT PRICE             | AMOUNT       |
| 4020   | Temporary Traffic Control Devices                | 1       | LS   | \$650.00        | \$650.00     | \$3,200.00     | \$3,200.00   | \$1,000.00            | \$1,000.00   | \$2,000.00             | \$2,000.00   |
| 4040   | Traffic Safety Drum                              | 5       | EA   | \$20.00         | \$100.00     | \$80.00        | \$400.00     | \$100.00              | \$500.00     | \$100.00               | \$500.00     |
| ĺ      | SCHEDULE IV: TRAFFIC CONTROL TOT                 | AL      |      |                 | \$63,132.00  |                | \$65,382.00  |                       | \$45,810.00  |                        | \$55,120.00  |
| SCHED  | ULE V: TEMPORARY EROSION AND SEDIMENTATION       | CONTROL |      |                 |              |                |              |                       |              |                        |              |
| 5000   | Seeding, Fertilizing and Mulching                | 0.10    | AC   | \$8,000.00      | \$800.00     | \$7,200.00     | \$720.00     | \$500.00              | \$50.00      | \$5,000.00             | \$500.00     |
| 5010   | Straw Wattles for Drainage Way Barrier           | 25      | EA   | \$60.00         | \$1,500.00   | \$75.00        | \$1,875.00   | \$100.00              | \$2,500.00   | \$200.00               | \$5,000.00   |
| 5015   | Inlet Protection                                 | 5       | EA   | \$50.00         | \$250.00     | \$100.00       | \$500.00     | \$70.00               | \$350.00     | \$100.00               | \$500.00     |
| 5020   | Straw Mulch                                      | 250     | SY   | \$5.00          | \$1,250.00   | \$3.00         | \$750.00     | \$3.00                | \$750.00     | \$10.00                | \$2,500.00   |
| 5030   | ESC Lead   | 20      | DAY  | \$40.00         | \$800.00     | \$170.00       | \$3,400.00   | \$800.00              | \$16,000.00  | \$200.00               | \$4,000.00   |
| 5055   | Temporary Erosion/Water Pollution Control        | 1       | FA   | \$5,000.00      | \$5,000.00   | \$5,000.00     | \$5,000.00   | \$5,000.00            | \$5,000.00   | \$5,000.00             | \$5,000.00   |
|        | SCHEDULE V: TESC TOTA                            | AL      |      |                 | \$9,600.00   |                | \$12,245.00  |                       | \$24,650.00  |                        | \$17,500.00  |
|        |  |         |      |                 |              |                |              |                       |              |                        |              |
|        | SUMMARY  |         |      |                 |              |                |              |                       |              |                        |              |
|        | Schedule I - Streets                             |         |      |                 | \$159,780.00 |                | \$147,568.75 |                       | \$144,355.00 |                        | \$109,340.00 |
|        | Sechedule II - Water                             |         |      |                 | \$174,537.53 |                | \$183,947.96 |                       | \$164,306.94 |                        | \$233,990.55 |
|        | Schedule III - Sewer                             |         |      |                 | \$27,192.14  |                | \$31,139.61  |                       | \$83,794.88  |                        | \$47,386.13  |
|        | Schedule IV - Traffic Control                    |         |      |                 | \$63,132.00  |                | \$65,382.00  |                       | \$45,810.00  |                        | \$55,120.00  |
| İ      | Schedule V - Temporary Erosion and Sedimentation | Control |      |                 | \$9,600.00   |                | \$12,245.00  |                       | \$24,650.00  |                        | \$17,500.00  |
|        | Construction Cost Totals                         |         |      |                 | \$434,241.66 |                | \$440,283.32 |                       | \$462,916.82 |                        | \$463,336.68 |

|                      |   |                              |      |  | 9                                      |   | 10                                     |                              |  |
|----------------------|---|------------------------------|------|--|--|---|--|------------------------------|--|
|                      | Misc. Water Mains - Scenic Hill<br>bening: August 11, 2009  | BIDDER'<br>NAME AI<br>ADDRES | ND   | Riverton Contra<br>764 Valentine A<br>Pacific, WA 98 | Avenue SE                              | Ro-Con Equipn<br>P.O. BOX 1008<br>Black Diamond | nent Specialist                        | <b>Nick Horn</b><br>Engineer |  |
|                      |   | TOTAL                        |      |  | \$468,705.74                           |   | \$489,001.15                           |                              | \$467,616.14                           |
| ITEM                 |   |                              |      |  | TOTAL                                  |   | TOTAL                                  |                              | TOTAL                                  |
| NO.                  | DESCRIPTION   | QTY                          | UNIT |  | AMOUNT                                 | UNIT PRICE                                      | AMOUNT                                 | UNIT PRICE                   | AMOUN                                  |
| SCHEE                | DULE I: STREETS   |                              |      |  |  |   |  |                              |  |
|                      | Mobilization  | 1                            | LS   | \$22,000.00  | \$22,000.00                            | \$18,000.00                                     | \$18,000.00                            | \$36,774.19                  | \$36,774.19                            |
| 1005                 |   | 1                            | LS   | \$1,200.00   | \$1,200.00                             | \$4,000.00                                      | \$4,000.00                             | \$5,000.00                   | \$5,000.00                             |
| 1010                 |   | 785                          | SY   | \$3.50   | \$2,747.50                             | \$4.80  | \$3,768.00                             | \$14.00                      | \$10,990.00                            |
| 1025                 | Remove Cement Concrete Curb and Gutter  | 75                           | LF   | \$7.50   | \$562.50                               | \$8.50  | \$637.50                               | \$13.00                      | \$975.00                               |
| 1050                 |   | 2,800                        | LF   | \$1.00   | \$2,800.00                             | \$2.20  | \$6,160.00                             |                              | \$8,400.00                             |
| 1075                 | <u> </u>  | 1,815                        | TON  | \$12.00  | \$21,780.00                            | \$22.00   | \$39,930.00                            | \$20.00                      | \$36,300.00                            |
| 1080                 | Crushed Surfacing Top Course, 5/8 Inch Minus  | 185                          | TON  | \$14.00  | \$2,590.00                             | \$28.00   | \$5,180.00                             | \$25.00                      | \$4,625.00                             |
| 1095                 | HMA Class 1/2", PG 64-22  | 160                          | TON  | \$155.60   | \$24,896.00                            | \$155.00  | \$24,800.00                            | \$135.00                     | \$21,600.00                            |
| 1110                 | Planing Bituminous Pavement   | 520                          | SY   | \$15.00  | \$7,800.00                             | \$6.50  | \$3,380.00                             | \$6.00                       | \$3,120.00                             |
| 1125                 | Cold Plant Mix for Temporary Pavement Patch   | 35                           | TON  | \$65.00  | \$2,275.00                             | \$150.00  | \$5,250.00                             | \$125.00                     | \$4,375.00                             |
| 1205                 | Cement Concrete Curb and Gutter   | 45                           | LF   | \$100.00   | \$4,500.00                             | \$28.00   | \$1,260.00                             | \$25.00                      | \$1,125.00                             |
| 1220                 | Adjust Existing Catch Basin Grate to Finished Grade   | 2                            | EA   | \$300.00   | \$600.00                               | \$210.00  | \$420.00                               | \$450.00                     | \$900.00                               |
| 1250                 | Install New Monument, Case & Cover to Grade   | 1                            | EA   | \$425.00   | \$425.00                               | \$525.00  | \$525.00                               | \$500.00                     | \$500.00                               |
| 1315                 | Pothole Utilities   | 5                            | EA   | \$1,700.00   | \$8,500.00                             | \$400.00  | \$2,000.00                             | \$250.00                     | \$1,250.00                             |
| 1500                 | Landscape Restoration   | 1                            | LS   | \$6,100.00   | \$6,100.00                             | \$4,500.00                                      | \$4,500.00                             | \$5,000.00                   | \$5,000.00                             |
|                      | SCHEDULE I: STREETS TOT   | AL                           |      |  | \$108,776.00                           |   | \$119,810.50                           |                              | \$140,934.19                           |
| COLIET               | NU E II. WATER  |                              |      |  |  |   |  |                              |  |
|                      | OULE II: WATER  | 2                            | EA   | \$3,200.00   | ¢0,400,00                              | \$2,400,00                                      | \$7,200.00                             | \$2.100.00                   | ¢4 200 00                              |
| 2005                 | <ul><li>8 Inch Connection to Existing Water Main</li><li>8 Inch Diameter Ductile Iron CI 52 Water Main Pipe</li></ul> | 3<br>1,386                   | LF   | \$3,200.00   | \$9,600.00<br>\$123,354.00             | \$2,400.00<br>\$98.00                           | \$1,200.00                             | \$2,100.00<br>\$80.00        | \$6,300.00<br>\$110,880.00             |
| 2025                 | ·   | 1,360                        | LF   | \$89.00  | \$890.00                               | \$40.00   | \$135,626.00                           | \$45.00                      | \$110,880.00                           |
| 2035                 | •   | 10                           | EA   | \$700.00   | \$700.00                               | \$650.00  | \$650.00                               | \$650.00                     | \$650.00                               |
| 2040                 | Replace Existing 6" Gate Valve  | 1                            | EA   | \$900.00   | \$900.00                               | \$750.00  | \$750.00                               | \$700.00                     | \$700.00                               |
| 2045                 | 8 Inch Gate Valve   | 6                            | EA   | \$1,400.00   | \$8,400.00                             | \$1,200.00                                      | \$7,200.00                             | \$1,100.00                   | \$6,600.00                             |
| 2043                 |   | 2                            | EA   | \$3,900.00   | \$7,800.00                             | \$3,200.00                                      | \$6,400.00                             | \$4,200.00                   | \$8,400.00                             |
| 2000                 | Removal of Existing Fire Hydrant  | 1                            | EA   | \$350.00   | \$350.00                               | \$850.00  | \$850.00                               | \$530.00                     | \$530.00                               |
| 2081                 | Monioval of Existing File Hydrant   | 1                            | EA   | \$4,200.00   | \$4,200.00                             | \$1,800.00                                      | \$1,800.00                             | \$2,200.00                   | \$2,200.00                             |
| 2081<br>2085         | 2 Inch and 6 Inch Blowoff Assembly  |                              | -, · | Ψ 1,200.00   | \$ 1,200.00                            |   |  |                              | \$4,000.00                             |
| 2085                 |   | 1                            |      | \$4,200.00   | \$4 200 00                             | \$2,400,00                                      | \$2 400 nn                             | 54.000.00                    | .54 (11.11) (11.1                      |
| 2085<br>2090         | Combination Air Vacuum Valve and Vault  | 1<br>19                      | EA   | \$4,200.00<br>\$310.00                               | \$4,200.00<br>\$5.890.00               | \$2,400.00<br>\$400.00                          | \$2,400.00<br>\$7,600.00               | \$4,000.00<br>\$230.00       |  |
| 2085<br>2090<br>2105 | Combination Air Vacuum Valve and Vault  | 1<br>19<br>1                 |      | \$4,200.00<br>\$310.00<br>\$2,200.00                 | \$4,200.00<br>\$5,890.00<br>\$2,200.00 | \$400.00  | \$2,400.00<br>\$7,600.00<br>\$4,500.00 | \$230.00                     | \$4,370.00<br>\$4,370.00<br>\$4,500.00 |

|        |   |         |      |                 | 9            |               | 10           |            |              |
|--------|---|---------|------|-----------------|--------------|---------------|--------------|------------|--------------|
| 2008 N | /lisc. Water Mains - Scenic Hill                    | BIDDER' | S    | Riverton Contra | •            | Ro-Con Equipm |              | Nick Horn  |              |
|        | ening: August 11, 2009                              | NAME AN |      | 764 Valentine   |              | P.O. BOX 1008 | •            | Engineer   |              |
|        | 3 - 3 - 3 - 7 - 7 - 7 - 7 - 7                       | ADDRES  |      | Pacific, WA 98  |              | Black Diamond |              | <i>g</i>   |              |
|        |   |         |      |                 |              |               | -            |            |              |
|        |   | TOTAL   |      |                 | \$468,705.74 |               | \$489,001.15 |            | \$467,616.14 |
| ITEM   |   |         |      |                 | TOTAL        |               | TOTAL        |            | TOTAL        |
| NO.    | DESCRIPTION   | QTY     | UNIT |                 | AMOUNT       | UNIT PRICE    | AMOUNT       | UNIT PRICE | AMOUNT       |
| 2125   | Service Connection 2 Inch Diameter                  | 1       | EA   | \$1,700.00      | \$1,700.00   | \$800.00      | \$800.00     | \$1,200.00 | \$1,200.00   |
| 2145   | Water Service Line 1 Inch Diameter                  | 440     | LF   | \$17.00         | \$7,480.00   | \$18.00       | \$7,920.00   | \$30.00    | \$13,200.00  |
| 2155   | Water Service Line 2 Inch Diameter                  | 8       | LF   | \$22.00         | \$176.00     | \$26.00       | \$208.00     | \$38.00    | \$304.00     |
| 2175   | 5/8 x 3/4 Inch Water Meter                          | 19      | EA   | \$0.01          | \$0.19       | \$250.00      | \$4,750.00   | \$290.00   | \$5,510.00   |
| 2205   | 3/4 Inch Meter Setter                               | 19      | EA   | \$220.00        | \$4,180.00   | \$450.00      | \$8,550.00   | \$300.00   | \$5,700.00   |
| 2215   | 2 Inch Meter Setter                                 | 1       | EA   | \$1,000.00      | \$1,000.00   | \$1,200.00    | \$1,200.00   | \$1,350.00 | \$1,350.00   |
| 2220   | Meter Box for Up to 1 Inch Diameter Service         | 19      | EA   | \$300.00        | \$5,700.00   | \$250.00      | \$4,750.00   | \$275.00   | \$5,225.00   |
| 2225   | Meter Box for 1 1/2 Inch to 2 Inch Diameter Service | 1       | EA   | \$600.00        | \$600.00     | \$700.00      | \$700.00     | \$575.00   | \$575.00     |
| 2255   | Shoring or Extra Excavation Class B                 | 1,900   | SF   | \$0.01          | \$19.00      | \$4.00        | \$7,600.00   | \$1.25     | \$2,375.00   |
| 2260   | Foundation Material, Class I and II for Water Main  | 150     | TON  | \$0.05          | \$7.50       | \$26.00       | \$3,900.00   | \$20.00    | \$3,000.00   |
| 2275   | Pipe Zone Bedding for Water Main                    | 500     | TON  | \$14.00         | \$7,000.00   | \$26.00       | \$13,000.00  | \$18.00    | \$9,000.00   |
| 2285   | Bank Run Gravel for Trench Backfill for Water Main  | 324     | TON  | \$12.00         | \$3,888.00   | \$22.00       | \$7,128.00   | \$14.00    | \$4,536.00   |
|        | SCHEDULE II: WATER SUB TOTAL                        | L       |      |                 | \$209,924.69 |               | \$244,634.00 |            | \$215,805.00 |
|        | 9.5% WA State Sales Tax                             | K       |      |                 | \$19,942.85  |               | \$23,240.23  |            | \$20,501.48  |
|        | TOTA  | L       |      |                 | \$229,867.54 |               | \$267,874.23 |            | \$236,306.48 |
| SCHED  | ULE III: SEWER                                      |         |      |                 |              |               |              |            |              |
| 3000   | Ductile Iron Side Sewer Pipe, 6 Inch Diameter       | 18      | LF   | \$150.00        | \$2,700.00   | \$140.00      | \$2,520.00   | \$60.00    | \$1,080.00   |
| 3005   | PVC Sewer Pipe, 8 Inch Diameter                     | 216     | LF   | \$165.00        | \$35,640.00  | \$42.00       | \$9,072.00   | \$50.00    | \$10,800.00  |
| 3035   | PVC Side Sewer Pipe, 6 Inch Diameter                | 30      | LF   | \$150.00        | \$4,500.00   | \$38.00       | \$1,140.00   | \$40.00    | \$1,200.00   |
| 3050   | Manhole Under 12 Feet, Type 1 48 Inch Diameter      | 1       | EA   | \$4,700.00      | \$4,700.00   | \$3,200.00    | \$3,200.00   | \$2,900.00 | \$2,900.00   |
| 3090   | Standard Manhole Frame and Locking Cover            | 3       | EA   | \$310.00        | \$930.00     | \$465.00      | \$1,395.00   | \$350.00   | \$1,050.00   |
| 3115   | Shoring or Extra Excavation, Class B                | 1,300   | SF   | \$2.50          | \$3,250.00   | \$3.70        | \$4,810.00   | \$1.25     | \$1,625.00   |
| 3120   | Foundation Material, Class I and II                 | 20      | TON  | \$20.00         | \$400.00     | \$36.00       | \$720.00     | \$20.00    | \$400.00     |
| 3135   | Pipe Zone Bedding                                   | 155     | TON  | \$14.00         | \$2,170.00   | \$36.00       | \$5,580.00   | \$18.00    | \$2,790.00   |
| 3145   | Bank Run Gravel for Trench Backfill                 | 140     | TON  | \$12.00         | \$1,680.00   | \$28.00       | \$3,920.00   | \$14.00    | \$1,960.00   |
|        | SCHEDULE III: SEWER SUB TOTAL                       | L       |      |                 | \$55,970.00  |               | \$32,357.00  |            | \$23,805.00  |
|        | 9.5% WA State Sales Ta                              | X       |      |                 | \$5,317.15   |               | \$3,073.92   |            | \$2,261.48   |
|        | TOTAL   | L       |      |                 | \$61,287.15  |               | \$35,430.92  |            | \$26,066.48  |
| SCHED  | ULE IV: TRAFFIC CONTROL                             |         |      |                 |              |               |              |            |              |
|        | Traffic Control Labor                               | 900     | HR   | \$45.00         | \$40,500.00  | \$36.00       | \$32,400.00  | \$40.00    | \$36,000.00  |
| 4010   | Construction Signs Class A                          | 81      | SF   | \$25.00         | \$2,025.00   | \$8.00        | \$648.00     | \$14.00    | \$1,134.00   |
|        | Traffic Control Supervisor                          | 300     | HR   | \$47.00         | \$14,100.00  | \$38.00       | \$11,400.00  | \$45.00    | \$13,500.00  |
|        |   |         |      |                 |              |               |              |            |              |

|        |  |           |      | 1               | 0            |               | 10           |            |              |
|--------|--|-----------|------|-----------------|--------------|---------------|--------------|------------|--------------|
| 2000 1 | lisc. Water Mains - Scenic Hill                  | BIDDER    | 10   | Riverton Contra | 9            |               | 10           | Nick Horn  |              |
|        |  |           |      |                 |              | Ro-Con Equipm | •            |            |              |
| віа Ор | ening: August 11, 2009                           | NAME A    |      |                 |              | P.O. BOX 1008 |              | Engineer   |              |
|        |  | ADDRES    | 5    | Pacific, WA 98  | 047          | Black Diamond | , WA 98010   |            |              |
|        |  | TOTAL     |      |                 | \$468,705.74 |               | \$489,001.15 |            | \$467,616.14 |
| ITEM   |  |           |      |                 | TOTAL        |               | TOTAL        |            | TOTAL        |
| NO.    | DESCRIPTION                                      | QTY       | UNIT |                 | AMOUNT       | UNIT PRICE    | AMOUNT       | UNIT PRICE | AMOUNT       |
| 4020   | Temporary Traffic Control Devices                | 1         | LS   | \$2,200.00      | \$2,200.00   | \$2,800.00    | \$2,800.00   | \$3,000.00 | \$3,000.00   |
| 4040   | Traffic Safety Drum                              | 5         | EA   | \$0.01          | \$0.05       | \$120.00      | \$600.00     | \$80.00    | \$400.00     |
|        | SCHEDULE IV: TRAFFIC CONTROL TOTAL               | <b>AL</b> |      |                 | \$58,825.05  |               | \$47,848.00  |            | \$54,034.00  |
| SCHED  | ULE V: TEMPORARY EROSION AND SEDIMENTATION       | CONTROL   |      |                 |              |               |              |            |              |
| 5000   | Seeding, Fertilizing and Mulching                | 0.10      | AC   | \$5,000.00      | \$500.00     | \$11,000.00   | \$1,100.00   | \$2,750.00 | \$275.00     |
| 5010   | Straw Wattles for Drainage Way Barrier           | 25        | EA   | \$60.00         | \$1,500.00   | \$150.00      | \$3,750.00   | \$65.00    | \$1,625.00   |
| 5015   | Inlet Protection                                 | 5         | EA   | \$65.00         | \$325.00     | \$165.00      | \$825.00     | \$75.00    | \$375.00     |
| 5020   | Straw Mulch                                      | 250       | SY   | \$2.50          | \$625.00     | \$2.25        | \$562.50     | \$2.00     | \$500.00     |
| 5030   | ESC Lead   | 20        | DAY  | \$100.00        | \$2,000.00   | \$340.00      | \$6,800.00   | \$125.00   | \$2,500.00   |
| 5055   | Temporary Erosion/Water Pollution Control        | 1         | FA   | \$5,000.00      | \$5,000.00   | \$5,000.00    | \$5,000.00   | \$5,000.00 | \$5,000.00   |
|        | SCHEDULE V: TESC TOTA                            | <b>L</b>  |      |                 | \$9,950.00   |               | \$18,037.50  |            | \$10,275.00  |
|        |  |           |      |                 |              |               |              |            |              |
|        | SUMMARY School also I. Streets                   |           |      |                 | ¢100.777.00  |               | ¢110.010.F0  |            | ¢140.024.10  |
|        | Schedule I - Streets                             |           |      |                 | \$108,776.00 |               | \$119,810.50 |            | \$140,934.19 |
|        | Sechedule II - Water                             |           |      |                 | \$229,867.54 |               | \$267,874.23 |            | \$236,306.48 |
|        | Schedule III - Sewer                             |           |      |                 | \$61,287.15  |               | \$35,430.92  |            | \$26,066.48  |
|        | Schedule IV - Traffic Control                    | 0         |      |                 | \$58,825.05  |               | \$47,848.00  |            | \$54,034.00  |
|        | Schedule V - Temporary Erosion and Sedimentation | Control   |      |                 | \$9,950.00   |               | \$18,037.50  |            | \$10,275.00  |
|        | Construction Cost Totals                         |           |      |                 | \$468,705.74 |               | \$489,001.15 |            | \$467,616.14 |